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4X1/8 4 Ve | 25| 4 397/ 12 |12 | 8 | 15 |225]13
L L 6x1/8 6 s | 4 4 39714 |14 | 7 | 20 [305(14
h £ 6xX1/a B Va | 4 7 | 60117 |14 | 7 | 23 [335[17
N\ fatel 8x1/s 8 /e | 6 4 39717 |17 | 7 | 23 [335(|16
8x1/a 8 /a2 | & 7 | 601 17 |17 | 7 | 23 |335(18
\\. T 10X1/4 10 /4 | 8 7 | 601 17 |19 [ 7 | 23 |34a5[19
. L . - 10x3/8 10 3/s | 8 91635 1919 | 7 | 24 [355/195
N 12x1/a 12 /a |10 7 | 601] 19 |22 | 7 | 24 |355]18
12x3/8 12 3/s |10 9635 19| 22| 7 | 24 [355|205
15x3/8 15 /s |12 9 | 635 24 | 27 | 75| 29 (415|235
16x1/2 15 /2 [12 | 12| B16| 24 | 27 | 75| 29 |415|26
P % 1B6x1/2 16 V2 |18 | 12 [ 816] 27 | 30 | 75| 32 |445|27
| | 1B8x1/2 18 V2 [14 | 12 [816| 27 | 32 | 8 | 32 |445|30
30%5/4 20 5/ |17 | 16 | 053] 30 | 36 | 8 | 33 |455|305
T/ Er 30%5/a 22 34 |18 | 16 | 953| 32 | 36 | 9 | 34 |465|325
35%5/a 25 3/4 |20 | 16 | 953 36 | 41 [10 | 36 495|335
35x%1 25 1 |20 [ 22 [1039] 36 | 41 [10 | 36 |495|3565
28x1 28 1 |22 [ 22 [10.39] 41 | 46 |10 | 41 |55 |395
30x1 30 1 |25 |22 [10.39] 41 | 46 |10 | 41 |555|395
30%1 /4 30 1/4|26 | 31 [1270 46 | 46 |10 | 46 |60.5/42.5
32x11/a 32 1/2]26 | 31 [12.70] 46 | 50 |11 | 46 |605|4235
35x11/a 35 17228 | 31 [12.70] 46 | 55 |1 46 |635|455
38x11/2 38 1/2]32 | 36 [12.70/ 50 | 60 |12 | 50 |69.5|485
10x11/2 40 1/2]32 | 36 [12.70[ 55 | 60 |12 | 55 |74.5|495
50x2 50 2 |40 | 46 16588 65 | 75 |12 | B2 |835|58
/8x1/4 /s |105] /4 | 8 7 | 601] 17 | 19 | 7 | 23 |345[19
/2x3/8 /4 |13.8] 38 |11 9 [ 635/ 22 [ 24 | 75| 28 |40 |225
Vex/z | 3/8 [17.3] /e [14 | 12 | 8.16| 27 | 32 | 8 | 32 |445]|30
/ex3a4 | /2 |21.7| 3/a |18 | 16 | 953| 32 | 36 | 9 | 34 |465|325
ax1 34 |27.2] 1 |22 | 22 |10.39] 41 | 46 |10 | 41 |65 |395
1x1/a | 1 [34.0[1/a|28 | 31 1270 46 | 55 |11 | 46 |635|455
1/ax11/2|11/a|42.7| 17234 | 36 |12.70| 60 | 65 |12 | 67 |77/5|615
#Average V /ex2_ [11/2]1486| 2 |40 | 46 1588/ 65 | 75 |12 | 62 |835|58
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— 8xl/a 8 /4 6 | 19 | 17 | 7 24 |345]| 24

15 L —10x1/a 10 /a 8 [19 |19 [ 7 24 |355| 24
== —12x/a 12 Va | 10 | 19 | 22 | 7 24 | 355 | 24
h H — 12x%/8 12 3 | 10 | 24 | 22 | 7 29 [405 | 29

) T — 16x3/8 15 38 | 12 | 24 | 27 | 76| 29 |415] P9

o, — 16x/2 15 /2 | 12 | 30 | 27 | 75| 33 |455| 33

- —16x1/z2 16 /= | 183 | 30 | 30 | 75| 33 |455| 33

| —18x1/z 18 /2 | 14 | 30 | 32 | 8 33 (455 33

g il : — 20x3/4 20 %4 | 17 | 36 | 36 | 8 36 (485 36

— 22x3/4 22 %4 | 18 | 36 | 36 | © 36 | 485 36

» — P5X3/4 25 %4 | 20 | 36 | 41 |10 36 [495]| 38

g I 1 — 25x1 25 1 20 | 46 | 41 |10 46 | 595 | 46
f — , — 28X 28 1 22 | 46 | 46 |10 46 |60 46

[ \ —30x1 30 1 25 | 46 | 48 |10 46 | 605 | 46

— 30x1/a 30 1/a| 256 | 655 | 46 |10 55 | 695 55

E —32x1/a 32 172 26 | 55 | 50 |11 55 | 695 55

A —35x11/a 35 1/4| 28 | B5 | 55 |11 655 | 725 55

T Vex/a /a8 [10.5] /a 819 | 19| 7 24 | 355 24

— 1/ax3/8 Va | 138 88 | 11 | 24 | 24 | 75| 29 |41 29

—3/ax1/2 38 |[173] V= | 14 | 30 | 32 | 8 33 [455| 33

— 1/2x3/a /2 |21.7| %a | 18 | 36 | 36 | 9 36 |485]| 36

—3/ax1 32 |272] 1 22 | 46 | 46 |10 46 |60 | 46

% Average Vi — I1x1/4 1 340 1/4 | 28 55 55 [11 b |726 | B5
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